' 106E
FIRST MID TERM EVALUATION

KP (G) Time : 1% hrs.
Std. 10 SOCIAL SCIENCE Score : 40
Instructions:

o The first 7 minutes and cool-off time.

o This time is to be spent for reading the question paper. .

o You are not supposed to write anything during the cool-off time.
o Read the instructions carefully and attempt the questions.

(Questions 1 to 2 carries 1 score each)

1. The idea proposed by John Locke was:- 1
2 Man is born free, but everywhere he is in chains.

b. The powers of the government should be divided

c. Thereissomething absurd, in supposing a government
purposely governed by a foreign power.

d. Everyone has some fundamental nghts
2. Whichlongitudeis knownthe Standard Meridian of India? 1
(Qns. 3 to 9 carries 3 score each. Answer any 6)  (6x3=18)
. 3. The second estate of the French society enjoyed many

privileges. Elucidate.
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4. Complete the missing part:-
Months The apparent Season in the
movement Northern

. of the sun hemisphere

From March | From the Equator

21 to June 21 | to Tropic of Cancer

..... ).... From Tropic of Summer

Cancer to the Equator

From
September23™ 7 ™ (3 A Autumn
to December 22 .

5. Analyse the situations that led to the formation of the
National assembly in France 3

6. Define: a. Parallelism of the Earth’s axls

b. Apparent movement of the sun
c. What are the reasons for the occurrence of
seasons?

J/ In the post cold war period, Several strategies were
adopted by America to establish its dominance over the
world. Elucidate. 3



_8 What are the factors : hfluencing atmospheric pressure?
Explain, | 3
9. Explain the changes that were brought to the world with
3

the disintegration of Soviet Union.
(Qns. 10 to 12 carries 4 score each. Answer any 2) (2x4 =8)

10. Examine the situation thatled to the establishment of the

United Nations Organization. Where is its head quarter?

Write any two objectives of the UN. 4

1+~ Which longitude is the Prime meridian? Explain prime
meridian, standard meridian, standard time and local ime.
Which longitude is the International Date Line? 4
12. The peace efforts after the First World War were a
humiliation to Germany. Elucidate. 4
Answer questions 13 and 14. Each question carries 6
score each. (6 x2=12)

L13. List down the results of the Russian Revolution. 6
OR

Globalisation posed challenges to the developing
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